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Geometry — Unit 3 Review

Multiple Choice ~
1. Determine how many segments are parallel to GE? 7 ol
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2. Which of the following best explains the angle relationship of 21 and £3 for the diagram below.
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3. Inthe figure to the right, n||m, find the value of x
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4. In the figure to the right, a||b, find the value of
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5. In the diagram below, line p is parallel to line j and line t is perpendicular to AB. What is the measure of
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6. Based on the figure below, select all statements at are true if [ || m and 7 || s? N
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7. Which statement is true based on the figure
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8. Assuming that@hich of the following is a reason why [||m?
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9. Solve forxand y so thata || b |l c.
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. x=29 y =110
AR Wre ¢ & A Ext &5 ae &

|
Yx-20"3% €38  /Qy+26= X138
: 9y +26=32)138

o 3%
Ax-20-39 Ay +2=0*+39
A4 +26 = 125 v

SR>
Zomm

+Z20
Zx-s®_ x=29 X959 .9-@) ' AL

10. Which angles are congruent to Z47Setect all that apply. - 4 RS A
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11. Name the angle relationship of 24 and 2D.

For 12 - 16, refer to the figure on the right.
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16. Plane BGCH is parallel to ]Dfm\( AFCD



For 17 - 21, complete the statement with alternate interior, alternate exterior,
corresponding, consecutive interior, vertical angles, linear pair, or none._
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For 22 - 27, state the angle relationship of the following, and solve for the variable.
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For 28 - 31, use the figure to Lhe right and that a||b — ;
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28. msl1= I 8
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30. ms3 = qQo
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